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������   The sealed sources 
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%� 0��� �	� ��� 1�� 0�
��%�� +��2 ��$
 "#$�� ���� "�3� 4��( .   ��� 5
���� �6� +%�� 7
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�-�� /�	� �� :�����;� <����� ����� ������.  
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�� 4��
�� �� ������ 	�
��� C��� ����%�� ��H� /���% �&  

���
 8
�
���
 ��%����-� :�	����
 /B-�    ������ +���	 '�( 	�
��� =6� +�!���

 8�����)0&�� �@�%�� ��� 
* .(  /	����� :��% �6( /�
���� =6� 	�	B�


"
&�� +%� '�� 
* ��B�$ 
* ��@�� ���& 0. ������.  
           

   7 	�2 ������� /	���� �� /��3  ���% �* '�( /����� �	��

������ ������( /�
�� +%���    /	����� =6�� �� �-�K� ���%�� �* 7(

 �-����
 �-� 

�� 

	& ���& 0. /���% �����	 /�
�� +%�� �* �%��
����� +��	 '�( .����� ����� ������ 	�
��� +
�	 	��. 	�
��� =6�  0.

  ������ ��� �-�
�� 
* 0������ �-%%K� ��� '�& �-������( ��	 ( .
 ������ 	�
��� 1%K��� +	�� :
�K��
   :������� /	�� '�( ��
F /	� ��

������ /	���� 0K ��� ����� ���� ������ .  =6�� E���( +	�� 	���� ��%
 �- @� �
 ������ /	���� 5
� �-��* +��
� /	� '�� ����� �� 	�
���

������
 ��@����%�� . =6� E���( "�3��� �* �%��
�    ������ ��� /	����
	� ��� L
���� ��
�K�� :���./ /	�
 ���* ������ �� :����.  

  
11�2   �� �
���� ��
��������   

 0��� ������ /	���� ���% '�� �����	�� �������� ������ D2
��
 ����� +�	� ) ������ 
,��� 
* (   0���� :�������� 5
� '�� 1�6%


�-�2��
 /	���� =6� ���	 ��   ������ ���
�
���K�� G@� ��� '��
 .
�� �	 � 0��� 	�
��� �����
 �K�* :���)  +%��� 7 0��� �	� ��� 0�

������ ������( /�
�� (�����	�� ������ �	� � ���* ��.  M���


'�( 1�6 0. C����:  
  
1>     7 
��& 8������ ����� 0. �K�* :����� )	� �3 

�������� �� ��
@� 4�B�* /	� B
����.  
2>  ������� '�� �!@�K�� �K�* :����� /�	2. 
3>  ��� ��F���� ��%:������� =6-� 0����� 0�
�
�. 
4>  �K�* :������ ������ �	� ��� M���� 0K ��� ����� +
�. 
5>  8����� ����� �� �@�H��� E���( ��
� .  
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           ������ '�( �K�* :����� �	 � 0��� �@�H��� 	&* +
�	 	��

OK�� '�( 0������ 8	9�
 ��
�&�� 4�,��� 	&* 0. B%��� �* �%�� �-�P. .

�1�6�  �K�* :����� �	� � �	���� 7)    0K� ��� ������ :�6 �� ��
���%�� (G������ <��$* 0..  

           
    ��� �$���� '��. ���� :����� �	 � '�( �@�H��� ������� ��*
�� D�,��F� ���	� ��%
 :������� =6-� 0����� 0�
�
���� �)  �����!����

�K�* :������ ( �@�H��� =6� +
�	 	�� O�* 7( 8	9� �* �%�� �-�P. �����
  4��,����
 +� �-�. B%��� 0��� 4�,���� ����� ���,* 

	& '�(

�-� ���&���.  
            

 �
���
����� ��H� �����
90  ������	�� /�
���� �	� � 	&* .
�.� ��H��� =6-� 0K ��� ���28 ����   8

���� �����7� �� Q��� 
�


�
����
��� .6��1� H��� �6� 	�
�  ��� Q��� 86�� 8�6�� ���3�� ��, ��
 C������� =6� �� Q����� ���3�� 0. =B�%�� 	�	B�
 ��

��� :����K��� .

 �
���
����� ��H� �* ��%90 �� ��H� Q����  �
����90 (Yttrium - 90) 
���� :������ M�� =�
	� 
�
 . 0. �!��� 0��� 	�
��� �� �
���
�����

O����( ����� +��� ��� ��H��� ��
� �� ����$ 0. ����� �� . 1�6��� 

���@��� �����	�� ������ �	� � 	&* �
���
����� �����.  
            
1�6%�  	
��� +%��131  ������	�� ������ �	� �� ��F��� 	&* .

  =��	�!� 0K � ���� ���� :�����(
 ���� :����� ��H��� =6� �	 �

���* �����F .
 E#�� ��H��� �6� �	����
  
��& 		3�� <���* G����
�-�. B%��� .6��1�     �����K�� '��� ������	 ������( /�
�� +%�� 
-.

/����� �K � O� �
������ ��6�� 4�����
.  
            

������� ��* �	� ��      ������	�� /�
����� �P�. ����� :�����(
  ��� �������� /�
����� ����!���� /	
	&� �������� �%�� �-��� ��������

 +%���� 
* �K�* :����� ��.  
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11�3   ����� ������ �� ��� � �� ���  

������� "���� 0. ����� '�( ������ 	�
��� +
�	 "�� +F���:  
*>  ������ 	�
���� 

���� 4�
-�� "������.  
C>  ��	��� 

�� C��� ������ M� �-�
�	 
* ������ 	�
��� M��. 
E>  � 
* L
���� 
* 	���� "��� �� +
�	�� R
	��. 
  

  '��( 	�
��� =6� +�	� ������ 	�
���� 8
��� 4�
-�� 

�� 	��.
���@����     :#� �
&�� "���� ��� /����� �	�� '�( �-�� 4B� ���

��@�
-�� .  ���@�
-�� �� !��
 �@��� 0. C���� �* �%�� ��S 4B� 1���


F� /	���� '�( +�	�
 �
����� '�( + �.   G������ 4B��� ���� D2
��

/�����    ������� /	����� 5
� '�� /	���� + � 86�� 4B��� '�( �	�� 0.

 �
�
 0@����%�� �-��%��
 �-���&
�- ��@��B�K��.  
             

    ��-��
 /	����� ���
	�� + � �-�P. ������ 	�
��� M�� 	�� ��*
4���T��  
�&�* �%�� �G��  �-����
� 
��	�� '�( �� . ��* 0.  ����&


* 0������ 	���� 

�� 

�� �P. ������ 	�
���� L
����   	�
���� =6�
�* �%�� ����� 4�B�* M��� '�( O�� +!���
 �	�� /����� + �.  

  
11�3�1  �� !���� "
��� ����
��  

        ��-�
 �� �H
&�� ��
�K� ����� ���
�
��K�� G@� ��� :
�K��
�������� ���2
�� �H� .6��1�   ������� ����2
�� ���
	�� ������ :		& ��

 �����(� ������(reference man)     :�K� �
��� 0��
 ������ :�K �
��
	��� 0. �������� +
)11>1 ('�& )11>3.(  

           
�� G���� �6� �	����
�  �� ���� :����&�� 4���( 0. 8����

�������� :������� .  ������ 0���& ��
�� ���F�� ������� ��!�� �����

��
��.  
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        �� :!�� 	2
    0�. B�%��� ������� 	�
��� <�� �* '�( /���
 ����� ����� 4�,�* .+�F��� +��� '��.� 		3�� 0. 	
��� B%���  � ��  

  
 +
	�)11 >1(  

�� ������ :�K �
��8����  

 ��!�� D �
 +��K��)���( 

���B
�� ������  
% 

���%��  
)��%( 


,��� ��� 

0.30  
  
0.05  
0.30  
0.20  
 >  
0.30  
0.03 

100  
  
10  
43  
14  
7.7  
2.9  
0.029 

70  
  
7  
30  
10  
5.4  
2.0  
0.02 

+%% �����  
0�H��� +%�-��  

)5��� �
	�(  
:#,���  
��	��  
�	��  

4�����  
		3�� 

  
 +
	�)11 >2(  

0�
��� E�����
 +��	�� :7	��  

 E����� )���/�
�(  +��	��)���/ �
�( 
1.4  
0.6  
0.3  
0.2 

 +
�  
"��  

�@��� 0. /���*  
B��� 

1  
1.2  
0.3 

����  
+@�
�  
����%* 

2.5 5
����� 2.5 5
����� 

  
 +
	�)11 >3( :"������� 4�
-�� ���%  

���%�� ������� 

3>4 ���  
2>3 ���  
10 ���3  
10 ���3  

+���� 	�� �@��� ��
�&�� �����  
/*���� 	�� �@��� ��
�&�� �����  

�����F�� +���� :�.�� +#� "������� 4�
-�� ��&  
 +#� "������� 4�
-�� ��&    ���� ������ :�������

)����  
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20 ���3
  �
��� 0. "������� 4�
-�� ��& 

  
���2�	�� ��H��� 0. �
�������� B%��� ��& 0.�  ���@��� 0. �
��
�
����

��H���
���,��� ������ 0. �
�B����
 � . ������ 	�
��� <�� 5B
��


����� 4�,�* M��� '�� ������� ��B
�.  
  

11�4    � #	 ��$
%�� �	���� &
�� '������ ( �$�  

11�4�1  ��� �� �)*
���� �	���� 
$�+ "
, ���  

        C��&���	!� +
�	 �� ������� �@.�%��� ������ )+��	��(  	�
���
  ������� +	�� 	���( 7
* C�� ���� 
,� '�( ���� :������ ������

 ���
��H
*
0  -� <���� 0����  O�. 	�
��� =6� B�%�� 	���� 
,��� �6� )
� 8* ��B�� 	�t  = �K .( ������� :�
���� 5����� 1�6 ���
:  
  
*>  O�. ���
�� ������ +	�� 	���( C
����� 
,��� ���% 	�	&�.  
C>  �� 	�	&�����  0������S  M���� ��H���)+��%���3����� ( �6� 0.


,��� .� ���!�
�����  0������S  
,��� ���% '��m  �������
� 	�
��� B�%�� '�� + &� �����C  O�.)+��%���3�����/ ��. ( 

E>    ����
���� �2���� ���2 	�	&�E  )����� �3  :��
. �
���%�( � (
�� /�	� �� ���� :������ ��H��� �6� .    )	�� �� !� ���H�


�%�� �2���� =6� G��� 8����� ����� 0. ���� :������ +��	 �-
	&�
�� ������ .1�6�
�   ������� 0. � ����� �2���� +	�� �
%�

� 
� ����F�� 0. 	&�
�C x E . 
	>     ��@.�%��� ������� +	�� '�( � ����� �2���� +	�� +�
&�H

*
0 

)1 	�� =6.25×10 7 �.(.D/�$� 
�� +�����Y���  :��
��%�;�
 =1(� �@.�%��� ������ +	�� �
%� 1�6�
 :�K�� 0�������/ ����

�:  

H
*
0  =  575 C x E          mSv/h (11-1) 

 1�6
%� ��	�� �
C �����3+��%�� �/��� E :�
. �
��%�( �3�����  
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�
,�:  
       ���
�� �@.�%��� ������ +	�� C�&�H

*
0   5#���� �� Q�����5 

M���� �
������� 4�� �� 8�
% 0�����     ��2�� ���
�� �* :���� �6(
/�	� �� ���� :����� �
������� ��  
�0.006 �.(.D.  

  
����:   
       �� ���%�� =6� ����   ������ 0. 	
�
��� 4���� 0. �
������� 4��

 0��
�&� O���% �	!� 86�� 8�����43  ���%.     ������� C���& 	���

�
%� �������� ���%�� �� +�%� �3����� 0������:  

 A  = 5 x 3.7 x 10
7
 x 10

 –6 

      =  185    MBq 

  
� ����� 4�� 0. ������ /	���� B�%�� �
%� �0������
:  

 C  =  185 / 43000 

      =  4.3 x 10
 –3 

   �2#��� ��	�����
)11>1 (
� �@.�%��� ������ +	�� �
%�:  

 H
*
0  =  575 x 4.3 x 10

 –3
 x 0.006 

         =   1.48 x 10
-2

     mSv/h 

   
11�4�2    #�.�� /� �	���� ���� ��0$  

                 +	��� G2����� ����� 
�,�� ������ 	�
��� +
�	 	��
� ������ 0��� �@.�%��0. 5	
� �� +%� ����� ��B�� �
�� M� 
,���:  

  
*>  ������ /	���� 0������ 1%K���.  
C>     
�,��� 0�. /	���� ���% G2��� � ������ �����:�   E������

0�
�
����. 
           
. �* D
����� ��������  ������ /	���� 0�������  ���* G2���
 ��B�� M�)0��F�� + K�� M��� .(1�6%� P.   E����( +	��� �* H&
� O�

 +F��� 0�* �
��!� ��,�� =������ �%�� 8����� ����� �� 	�
��� �H��
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0������ 1%K��� �
��!�.   ��2#��� �-�%&� ����� 0. /	���� ���% �* 8*
�������:  

S = S0 e
-λb t 

 
�&S    ���B 	��� 
,��� 0. ��!����� ������ /	���� ���% 0�
 =��	!�t � S0 	���� ���% 0�    	��� 
�,��� 0�. :B%�� 0��� ������ /
 �H&�t = 0 � λ b 0�
�
���� E����� :��F� D����   ������ +F��� 
�


0������ 1%K��� :��F D������   /�
�� E���( +���&� �� /���� O�( 6(
��B�� /	&
 0. 
,��� �� /	&�
 ���� . :��F�� �6� D����
 �� D#���

M���� ��H��� 5
� . �.#��� D���� ��%��Z G�� �� �K�K��   ��%�

����F =������ �%�� �������� ���2
�� <��$� .   1�%K��� :���F �����


 0�
�
����λ λ b    
�,��� 0�. ������ /	���� 0�
�
���� 0K ��� ������
��H��� 0K ��� �����
 0������ 1%K��� :��F ��� �2#��� ��F��� �2#���  

�* 8*:  

 λ b  = ln 2 / Tb    (11-2) 


 +
	� ����)11>4 (	�
��� <��� 0�
�
���� 0K ��� �����.   
  

 +
	�)11 >4( :���� 
��
� <�� G@� �  

 �2���� ��
��
�.(.D 

 0K ��� �����
0�
�
���� 

0K ��� ����� ��H��� 

0.006  
0.187  
0.21  
0.89 

0.058 �
�  
69 ��
�  
48���  
 > 

4480 ��
�  
8.05 ��
�  
28 ���  
64 ���� 

 �
�������3
1H 

 	
���131  
 �
���
���90  

(� �
���90  
  

  0@���&�� E�����
 0������ 1%K��� 0����� �� +% �* 
�&

 ����� �� ������ /	���� G2��� 0. ���-��    :���F D����� C�� O�P.

+��K�� 1%K��� :��F ���� D��� 	�	� λ eff .  
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�
���� 1��$�� "+
, (λλ eff) The effective decay constant 

           1�%K��� :��F �� +% 5
��� �� /���� 
�   0@���B�K��λp λ 
������ /	����    0���F�� +� K�� 0�. O��� ��.��� 86��    1�%K��� :���F

 0�
�
���� λ b� �* 8*:  

 λeff  =  λp  +  λb   (11-3) 

  

�
���� '��%�� ����� (Tcff ) Effective Half life    

          +��K�� 1%K��� :��F �����  λλ eff   +���K�� 0K� ��� ������Teff 
�2#��     ������
 0@���B�K�� 1�%K��� :��F ��� �2#��� AK�� ����� ��F���

�* 8* �0K ���:   

 λ eff  =  ln 2 / T eff   (11-4) 

 	�	&� �%�� 1�6�
T eff  �2#��� ��)11>3 (0�Z�%:   

 1 / T eff  =  ( 1 / Tp)  + ( 1 / T b)  

�* 8*:  

Teff  = ( Tp Tb ) / ( Tp + Tb )  (11-5) 

    ����% O��#� <K���� 86�� ��B�� 
� +��K�� 0K ��� �����

    1�%K��� ��� +�%� ����� D ��� '�( 
,��� 0. /	
�
��� :�������

0�
�
���� E�����
 0������.  
  

 +%� ����
)11>1 (  ��B��� �� ���	% ������ +	�� ��3� ��K�%
����� ������ /	���� +
�	 	�� .
�	 	��. '�( +!��� ����� /	���� =6� +

 ����2 '��* '�( + � �* '�( Q��	���� ��B�%�� 	�	B�
 ������ 
,��� .
  /	����� +
��	 	�� ������ +	�� 0. ������� /	��B�� Y,
� �� �6�
 .
  ����2 '��* '�( B�%���� +
 
 	�� �-� ���2 ' 2* '�( ������ + �


%� ����� ���* G2����� 0. ������ *	�� �F O�   0������� 1�%K��� �� +
0�
�
���� E����� �����
.  
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          ��B��  

  
 +%�)11 >1(  

������ /	���� +
�	 	�� ��B�� �� ���	% ������ +	�� ��3� �����  
  
11�4�3 �����$��� ������ �)*
���� �	���� 

  �%������ �@.�%��� ������ 		&� ���� 
,� 0. �)  ������ 0. 
*
O�% ( ���
�� ������ �.����H0  +��K�� 0K ��� �����
Teff  .  �������.

�2#��� �!�� ��B�� �� ���	% G2���� �@.�%���:  

 Ht  =  H0  e
- λeff  t

   (11-6) 

   ������ ����� �%�� ��B�� ������� /����� �2#��� =6� +��%��

0�Z�% ��%������ �@.�%���:  

 Hc =  ∫ H0  e
- λeff  t

   dt   (11-7) 

��
��
� �
�	
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    A��� 0��
&� +��K�� 0K ��� ����� �� ��%*  /	��� :��% �6P.
:���( �@.�%��� ������ �
%�
 �:6K���� 	2 /	���� �* ������ �%�� O�P. �

 
,��� 0. ��%������)����� 
* (0�:  

 Hc = H0 / λeff  = H0 Teff / ln 2 

    = 1.44 x H0 x Teff   (11-8) 

     
*  +���K�� 0K� ��� ������ ����!� ����B�� /��K�� :��% �6( ��*
  /��K�� =6� #� ����� 0. ��!����� /	���� ���% ����� C�� O�P. O�� �3 *

 .    /	����� �
�%� 
�,��� :��	 0��� /	���� ���% 0�  0�  :��% �6P.
0� =��	!� ��B 	�� O�. ��!�����:  

 f = S0 e
-λeff t

 / S0  (11-9) 

   ������� �%���� '�( :	* 0��� �%�-�����  ���%�� ���� �
%�

0� �@.�%���:  

( 1- f )  
 �2#��� 6��� �1�6�)11>8 (������� /�
 ��:  

Hc = 1.44 x H0 x Teff ( 1-f)  (11-10) 

   ��2#��� ���  ���2 �� <�
�����
)11>1(   ������� Y�� �
0� :�K�� 0������ ��%������ �@.�%���:  

Hc = 830 x C x E  x Teff ( 1- f ) (11-11) 

 
�&C   +���%���3����� ������ /	���� B�%��/  ��$ �E   ��2����
 
 :�
. �
��%�( �3����� ���� :������ ���
����Teff    0K� ��� ������

 ������� +��K��.  
  

�
,�:   
           ��@�	��7� �@.�%��� ������ :��% �6(H0   �
K��K�� �� �������

32 ���� 0. 0� �100 �� 0����/���� �  0���� �@.�%��� ������ C�&�
�%���� ����� 0.  )	� '��31 ��
��   �
K��K�� 0K ��� ����� ��� ����
32  
�14.28  
� O� 0�
�
���� 0K ��� �����
 ��
�48.12 ��
�.  
  

����:  
           ����  �2#��� �� +��K�� 0K ��� ����� 7
*)11>5(  
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 Teff = 14.28 x 48.12 / (14.28 + 48.12) 

       =  11.01   days 

       =   11.01 x 24  = 264.3   hours 

��	!� ���� �F  +��K�� 1%K��� :��Fλλeff 0�� ��%:  

 λeff = 0.693 / 11.01  =  0.06294     day 
-1 

��	!� ���� �F f  �2#��� ��)11>9(  

f =  e 
– 0.06294 x 31

  = 0.142 

#��� ��	�����
 �2)11>10 (�@.�%��� ������ �
%� ��%������ 0�:  

 Hc = 1.44 x 100 x 264.3 x (1-0.142) 

      =  32654    mrem 

      ≈   0.327     Sv 

  
11�5  + '������ ( �$�� �)*
���� �	���� &
��(	� + 
�
�  

 O�P. 8����� ����� '�( ���� :������ ������ 	�
��� +
�	 	��
� 	�	&� C� �/���% �2	� � ����� �@.�%��� ����� .  0�. C���� M���


��� :������ ������� /�	!�� '�( 1�6� "����7� '���   	�!K� 7 0������

 ��3  B�& 0. �-�2�� :������� =6�)#F� ��&�� /	&
 (  E���&� ���(

�-�2�� +% 	!K� '�& ����� /���% :�.����.  

           
������ C�&� "�� /	� 	�
�
    

��� ��� ������� �@.�%���
���� :������ /�	 ��� 	�
���� ����� .O�* 7(  D
�� '�� ��� � �!

   C���&� ��	������� �!����� 0�
 ������ =6� C��&� /	&�
 �!���
� ���� 	�
�� 0���	�� 

���� �� ������� �@.�%��� ������
��
�  ����� .

 +���� +��	( C�� �!����� =6� ��	���� ��%��
  :7	������ '�� 	�	�
)11>1 ( �)11>10(� G� ��7� ���� +���� ���� D��� Ψ .  
  

!
�$�2� �+�% ��
��  ψ   
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 ���%�� �2���� '�( ����� 0. � ����� �2���� ���� �� /���� 
�
����� +��	 /	
�
��� ������ /	���� �� /�	� �� .  +������� �6� 	����


-�� M,
�� '��
 ���� :�����( �2�� '�������� /	���� 0�	�.  
       

 ��	����� '�( 5
�����
)11>11 ( +������ 6�*
Ψ �� 0.����& 
�@.�%��� ������ 	���( �%�� O�P. ��%������   0���	��� 

���� �� �������

������� ��	����� �� ���� :������ /�	 � 	�
��:  

Dc = 830 x C x Eγ x Te x Ψ x ( 1-f ) (11-12) 

 
�&Hc � ������ :�K��� 0������� /		&� /��. +#� ��%������ 
C  ����� 0. ������ /	���� B�%�� )�����3 +��%� �/  ���(�Eγγ    ��2��


. �
��%�( �3����� ���� :�����( ��:� Te    +���K�� 0K� ��� ������  
 
 :������� f     	��� ������� 	�
��� �� ����� 0. 0!����� 4B��� ����

/		&��� /��K�� �
��.  
  

�
,�:  
             O��B
 <���� �-� <���� 0��� �@.�%��� ������ C�&�70 

 )	� '�� ��%7    �
�	
� �� ��� ���%� O�!& 	�� ���*24  ����� �-
������0 500    0K� ��� ������ �* :���� �6( 8�
%
�%��  +���K�� 

 �
�	
 ��24  
�15    ���� ���2���� ���� :�����( �	 � O�*
 ����
1.37 � 2.75 �.(.D.  
  

����:   
            	����( C�� �K���� :�2��� :�����( �	 ��� �	 � ��	��

 :������ =6� M��� �F /	& '�� �2�� +% �� ������� �@.�%��� :������
���%�� ������ 	���� �@.�%���.  

   B�%���� ����� ���C 0�Z�%:  

 C = 500 x 3.7 x 10 
–4

 x 10
 –6

 / 70000 

     =  2.64 x 10
-4

     MBq/gm 

  ��	!� 
� :������� +��K�� ��B��:  
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 T  = 7 x 24 = 168   h 

0!����� 4B��� ��	!�
:  

S  = e 
– 0.693 x 168 / 15

 ≈   0 

 �2����  +������ ��	!�1.37 �.(. 
� D0.307 �
%� 1�6� �
0� '�
�� �2���� �� ��%������ ������:  

 Dc1 = 830 x 2.64 x 10
-4

 x1.37 x 0.307 x 15 x  (1-0) 

        = 1.38    m Sv 

 �2����  +������ ��	!�2.75 �.(. 
� D0.0.268 �
%� 1�6�
0� ����F�� �2���� �� ��%������ ������:  

 Dc2 = 830 x 2.64 x 10
-4

 x 2.75 x 0.268 x 15 x (1-0) 

       =  2.42    mSv 

  0� ���%�� ������ �
%� 1�6�:  

 Dc = 1.38 + 2.42  = 3.80     mSv 

  
11�6  �����
��%�� � %���  The annual limit on intake ALI  

   ���%������ ������� [��� ������ /	���� �� ���% �� /���� 
�
 O�% ����� ����K�� ������ 	& ����� 4�,�* 0. �-��)20  :�K�� 0����

����� 0. .(    ��� Q������ 8
����� ������ 	& B
���� 7* C�� O�* 8*
�� 	�
��� �� ���%�� =6� +
�	 ����� +��	 ����)������ 
,��� (  ����2
 O�% ����� ����K�� ������ 	&� ���������@�
���� �������� ����T.  

        
 +��	�#� 8
���� 	&�� 	����
(ALI)   5
�� '�� ����� /	�
� ��

��
 0@��B�K�� 0K ��� ����� '��
 /	�
��� =6�   �-%
��� '���
 0@��&
8����� ����� +��	 .1�6%�  	����  '���
 G���� ��� '�� 	&�� �6�

/	�
��� +��	�� C
��*
 O� 0@�63�� ��H����    
* M����� "���� �� 4�
�
AK���� . +�
&� :#���� ��2 �������� ���2
�� ���
	�� ������ :	�
* 	2


 +��	�7�)�%����+ ( �6-� <��� 86�� G���� ��B#� ����. ���� '�(
+��	�7�� �� 
* M���� "��� �� 4�
� ������ :�	�
��� M���� 1�6
 AK��
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�K������ ������� +&�����
 . +
	� ����
)11>5 (  :#������� =6� ��2
�A��  �K���� ����� +&���)+
	��� 0. ������% (  ��� +��	�7� 	��

M���� "��� � +
	� ���� ��%)11>6 (   +�&����� AK��� :#������ ��2
 "��� �� +��	�7� 	�� ������� "�����7�)�AK���(    ��� 		��� 1�6


������ :�	�
���.  
  

 +
	�)10 >5(  
��B#� ����. ���� '�( M����� +��	�7� +�
&� :#���� 

 ����. ���� '�( +��	�7� +�
&� +����):�K��/ +�%�( ����T�   
/	�
��� ��� [����� G���� ��16 ���

'�&18��� 

��10 :�
��
 '�&16��� 

��5  :�
��
'�&10 :�
�� 

'�& ��� ��  5 
:�
�� 

1.8x10>11  

5.6 x10>10  

2.6 x10>9  

1.5x10>10  
5.0x10>9  

3.0x10>9  

2.6x10
>10  

2.8x10
>8  

2.1x10
>11  

6.4x10
>9  

1.5x10
>8  

1.1x10
>7  

2.3x10>8  

1.9x10>8  

1.3x10>8  

6.2x10>7  

2.2x10>7  

2.7x10>7  

1.8×10>6  
3.6×10>8  
2.8×10>7  

1.8x10>11  

5.6 x1>10  

3.3 x10>9  

1.8x10>10  
6.2x10>9  

3.4x10>9  

3.2x10
>10  

3.0x10
>8  

2.6x10
>11  

8.1x10
>9  

1.9x10
>8  

1.1x10
>7  

2.9x10>8  

1.9x10>8  

1.3x10>8  

7.7x10>7  

2.4x10>7  

2.8x10>7  

1.9×10>6  
4.0×10>8  
4.0×10>7  

2.4x10>11  

8.5x10>10  

6.0 x10>9  

3.4x10>10  
1.1x10>8  

5.4x10>9  

5.6x10
>10  

4.4x10
>8  

4.5x10
>11  

1.5x10
>8  

3.8x10
>8  

2.1x10
>7  

6.0x10>7  

1.4x10>8  

1.0x10>8  

1.4x10>6  

3.5x10>7  

4.0x10>7  

2.1×10>6  
5.9×10>8  
3.6×10>7  

3.5x10>11  

1.1 x10>9  

1.1 x10>8  

6.2x10>10  
2.1x10>8  

8.6x10>9  

9.8x10
>10  

7.4x10
>8  

8.1x10
>11  

2.7x10
>8  

4.9x10
>8  

1.8x10
>7  

1.1x10>7  

1.3x10>9  

9.9x10>8  

2.6x10>6  

5.7x10>7  

7.0x10>7  

2.5×10 >6  
9.8×10>8  
4.7×10>7  

4.3x10>11  

1.5 x10>9  

1.8 x10>8  

1.0x10>9  
3.3x10>8  

1.3x10>8  

1.5x10
>9  

1.2x10
>8  

1.3x10
>10  

4.4x10
>8  

6.6x10
>8  

2.2x10
>7  

1.8x10>7  

1.3x10>9  

9.9x10>9  

4.2×10>6  

9.0×10>7  

1.1×10>6  

3.1× 10>6  

1.5×10>8  
6.4×10>7  

 �
����3  
�
��%14  
�
K�.32  
:���%35  
��
��
��40  

:���
%60  
�
����67  

�
������90  
�
���%�99�  
�
�	�(114�  
 	
�125  
	
�129  
	
�131  

�
�B��134  
�
�B��137  
�
���
�210  
�
�	��226  
�
�	��228  
 �
��
F232  
 �
����
�238  
 �
��
�
��239 

  

  
�
,�:  
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       M�,� +K� +
���  =���� ��� ����F�� ����� 0.    ����$ ������
0������ �
����
����� .  �6�� 0. /	
�
��� �
����
��� ���% �* :��� �6P

 0� ������500 �����  C��� +K��� �6-� ��B#��� ����K�� ������ 	�
*
������ �6�.  

  
  
 +
	�)11 >6(  
 +��	�7� +�
&� :#����"�����7�� ��B#� ����. ���� '�(  

 ����. ���� '�( +��	�7� +�
&� +����):�K��/ +��%��(����T�   
� ���/	�
�� [����� G���� ��16 ���

'�&18��� 

��10 :�
��
 '�&16��� 

�� 5 :�
��
'�&10 

:�
�� 

 '�& ��� �� 
5 :�
�� 

1.8x10
 >11  

5.6 x10
>10  

4.3 x10
>9  

3.3x10
 >9  

5.6x10
 >8  

3.5x10
 >7  

9.6x10
 >8  

1.3x10
 >8  

1.2x10
 >8  

8.5x10
 >9  

1.9x10
 >6  

1.8x10
 >11  

5.6 x1
 >10  

5.4 x10
>9  

4.1x10
 >9  

6.0x10
 >8  

3.7x10
 >7  

1.2x10
 >8  

1.8x10
 >8  

1.2x10
 >8  

8.2x10
 >8  

2.4x10
 >6  

2.4x10
 >11  

8.5x10
 >10  

9.9 x10
>9  

7.5x10
 >9  

9.1x10
 >7  

5.7x10
 >7  

2.4x10
 >8  

3.7x10
 >8  

9.2x10
 >9  

6.6x10
 >9  

4.4x10
 >6  

3.5x10
 >11  

1.1 x10
>9  

1.8 x10
>8  

1.4x10
 >8  

1.5x10
 >7  

9.9x10
 >7  

3.1x10
 >8  

7.6x10
 >8  

8.7x10
 >9  

6.6x10
 >9  

8.0x10
 >6  

4.3x10
>11  

1.5 x10
>9  

3.0 x10
>8  

2.2x10
 >8  

2.2x10
 >7  

1.9x10
 >6  

4.1x10
 >8  

1.1x10
 >7  

8.5x10
 >9  

6.8x10
 >9  

1.3x10
 >5  

 �
����3  
�
��%14  
�
K�.32  
�
����
�40  
:���
%60  
�
������90  

 	
�125  
	
�131  

�
�B��134  
�
�B��137  
�
���
�210 

3.1x10
>6  

1.1x10
>6  

2.1x10
>3  

3.4x10
>5  

6.4x10
>5  

2.6x10
>6  

1.3x10
>6  

2.3x10
>3  

3.4x10
>5  

6.9x10
>5  

4.7x10
>6  

2.3x10
>6  

2.6x10
>3  

5.0x10
>5  

9.1x10
>5  

8.5x10
>6  

4.2x10
>6  

3.3x10
>3  

8.5x10
>5  

1.4x10
>4  

1.4x10
>5  

6.8x10
>6  

4.4x10
>3  

1.3x10
>4  

2.0x10
>4  

�
�	��226  
�
�	��228  
�
��
F232  
�
����
�238  
�
��
�
��239 

  
 ����:  
        �
����
��� :��6 		� 7
* C�&�N  0. /	
�
���500   �����

 �
����
��� 0@�B��� �B
��
 
�	��
.* 		� ��	�����39.  
N = 6.02 x 10

23
 x 500 / 39 = 7.72 x 10

24
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�* 
�&
  �
����
���40  ��
� M����
    M�� ������� �K� � 	
 �
����
���39  �����11.7 :100000  �  �
�����
��� :��6 		� �
%�

40 
�:  
N40 =  7.72 x 10

24
 x 11.7 / 100000 = 9.03 x 10

20
 

  �* 
�&
  ��		�� C�, + �& 
� �� ����� 0������ ������
. 8�6�� 0������ ������ �
%� �-� 1%K��� :��F 0A    ��� ����%�� =6-�

 �
����
��� :��640 )+�%���� (
�:  
A =9.03 x 10

20
 x 0.693 / 1.28 x 10

9
 x 365.25 x 24 x 3600 

    = 15618    Bq 

E = 15618 x 3.3 x 10
-8

 =  0.000515       Sv 

   = 0.52    mSv 

  
�
,�:  

          ������ +
���� 0��
&� �	!� ������ �� ���% [�����600   ���%
��
���   �
�B������ �F
�� �� G�� �-�
���� 0��� ���%�� :��% �6P.137 

 =��	!� B�%���1000 +�%�/��%�     ���B#��� �����K�� ������� C�&�
 ������ �6� �� �������.  

  
����:  
      � 0������ ������ ���% 7
* C�&A  86��� ������ 0. 	
�
��� 
O�
����0�
 �:   

A = 600(kg) x 1000(Bq/kg) 

    = 6 x 10
5
      Bq 

 �
�B���� M����� +��	�7� +�
&� +���� ��	�����
137  G����
 ��B#��� ����K�� ������ �
%� [�����E 0�:  

E = 6 x 10
5
 x 1.3 x10

-8
 

   = 7.8 x 10
-3

 

   = 7.8       mSv 
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�B#� ����. ���� 	�%�� G���� �* 8* ����	!� �7.8   0�����
:�K���      �����* ��	�!�� �
�-���� �
���� 8
���� 	&�� �� ��%* 8*

����!� D��,*.  
    �������� ������� ����� /	�
�� +��	�#� 8
���� 	&�� 	���( �%��


  ���������� G���� ������ 	& ���!� 1�6
 ������ 	�
����)  
��
20 
:�K�� 0���� (�	�7� +�
&� +���� ���2 '�� 	��
�� ����. ���� '�( +�
�
	� 0.0 )11>5 (� )11>6.(  

  
�
,�:  

          	�
*��	!�    ��������� AK������
 M����� +��	�#� 8
���� 	&��
 �� +%� ������� ����-��� 8��H� �
���
���90  �
�	��
226.  

  
 ����:  
       7
* ����� ���      ���2 ��	������ M������ +��	��#� 8
���� 	&��
#���� +
	� �� +�
&��� :)11>5 (� �
���
����90  �
�	����
226 
��3�����0�Z�% �:   

ALI(Sr 90)   = 20 x 10
-3

 / 28 x 10
-8    

 

                 = 714286      Bq 

ALI(Ra 226) = 20 x 10
-3

 / 2.2 x 10
-7

 

        = 90909      Bq 

  � 		�&���
 0��-��� <����� 	& �* '�( /����� �	��
 ��	�!� 
20:�K�� 0����/     ������	�� :��,����� M����� 0�����( 	& 
� ���

��������
 .�������� 	&* <��� �6( O�* '���������� ��� 0. �  �����
 ����	!� 0������ <����� C��� ����.15  7* C�� O�P. :�K�� 0����

 M���� +��	�7� 5�
�* M��� �� ������� ��B#��� ����K�� ������ B
����
������� :�	�
�������� AK� 0. �  +����� �6-�5  :�K�� 0���� . �����


    <������ ��� #�% ���� 0��� ������� ��������� �	���� *	���� �6� M�
 8
���� 	&��
 0�-��� <����� 	&� �K���� :�	�
�� 0���	��
 0������

 +��	�#�ALI  /	�
� +%�.  
(E / 20)  + ∑ ( Is / ALIs  ⊆ 1  (11-13) 



  367

 
�&E    ��� +������ �-��� + &� 0��� ��
���� ����K�� ������
 :�K�� 0������� 0������ <����� �Is    /	��
��� 8
����� +��	�7�S  �

ALIs  /	�
��� =6-� +��	�#� 8
���� 	&�� 
�S �    �������� M����� ���

�-���	�� ��� 0��� :�	�
��� M����.  

  
�
,�:  

          ��!� �������� 	&* <��� 	
� +��	�7 8

��� C��� ���2* ��
131 7� "��� �� "������   =��	�!�3.08×10 5  +��%��   +��	���


 �
����%�99 =��	!� M����
 8	��� 

�� "��� �� �3.8×10 7 +�%� �
C�&�   :��,����� �� +����� �6� =B
���� 7* C�� 86�� ' 2�� 	&��
��������.  

  
 ����:  

          +��	�7 8
���� 	&�� 	
���131 AK���� "��� ��:  
 ALI( I –131) = 2 x 10

-3
 / 1.3 x 10

-8 

                         
= 1.54 x 10

6
    Bq 

M����� �
���%��� +��	�7 8
���� 	&��:   
 ALI(Tc –99m) = 20 x 10

-3
 / 2.1 x 10

-11
 

           = 9.5 x 10
8
    Bq 

 ��������� "�����
)11>13 (�
%�:  
 (E/20) + (3.08 x10

5
/1.54 x10

6
) + (3.8x10

7
/9.5x10

8
 = 1 

 (E/20) + 02 + 0.3 = 1 

�-��
:                                                           

E + 4 + 6 = 20 

E  = 10 

8* O�*    0������� <������ ���� B
���� 7* C��8   0�����
+�
� :�K�� �6� �����.  

  
 11�7    ���� 3�	 �+
4����������� �
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   4��,�* <���� �	� '�( �����	�� ������ '�� ���2��� D	-�
 �� 	
	�&�� �� ��%* �����	 ������( :����� �K������ ����� �&�� � .

   A���2 1�6�%
 4�
-�� 0. �!����� ������ 	�
��� B�%�� A��!� 1�6 ���

������ �@�H��� �� 8�� �K������ Y���� 

�� .    ��� <��3�� �6�-�



�	&���  4�
-�� "����� B�%���� 0�
 ����� :�&�� �(DAC)   	�&��

 +���� "�����(WL).  

  
11�7�1 5� 6�� �$���� .���$��   Derived air concentration 

           4�
-�� "����� B�%���� D���(DAC)   	�
���� B�%�� ���� O���
 ���� �� +��	�#� 8
�� 	&�
 	& �-�� Q��� 0��� 4�
-�� 0. ������ "

AK���� .#� 8
���� 	&�� ���!� "����� B�%���� 		&�
"����� )  ��������
������ ��H��� (����� 0. "������� 4�
-�� ��& '�� .   ���& ���% ���


 0��
& 
� �
��� 0. �����F�� +���� :���� +#� "������� 4�
-��10 �3 
 0� ���
���� +���� ���*
5  ���*)�
����� 0. ��
��* ����� /	� ( O�P.
"����� B�%���� 	�	&� �%�� 4�
-�� )+�%����/���3 (0�Z�%:  

DAC = ALI / (50
 
x 10 x 5)  = 

 
ALI / 2500 (11-14) 

 
�
,�:  
        �
��
�
���� 	��%* 0��F� "����� B�%���� C�&�239  4�
-�� 0.� 

��� ��!�� 8
���� 	&�� B
���� 7 
�&��&� .  
  

����:  
           �2 ��	����� +��	�7� +�
&� +���� �� "������7��   ��������
�
��
�
����� � C�&��	!�  +��	�#� 8
���� 	&��ALI 0�Z�% O��: 

ALI( Pu- 239) = 20 x 10
-3

 / 6.4 x 10
-5

 

          = 312.5 Bq 

DAC  = 312.5 / 2500  

= 0.125     Bq/m
3
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  �� 0�. �
��
�
���� 	��%* 0��F B�%�� 	�B� 7* C�� O�* 8* 4�

 '�� �.�3��0.125 +�%�/�����C�%  +��� ����( 8* <���� 7* ����

������ �,��� �.�3�� =6� 0..  
  
11�7�2   ����� �$���� ����   Derived working limit 

               

����� ��� ������� ������ +���� "����� 	&�� ��,��
 �� ����� +��	 '�( + � �* �%�� 0��� ������ 	�
����  AK����� "���

��� ������� M������ 
* M���� 
*�E����� �� 	 .   	�&�� �6�� 	�	&� 	��

�� 0. ������ �
�* �F#F 6�9�����& 0�:  

  
*>   	& AK���� "��� �� ����� +�	� 0��� ���%�� B
���� 7* C��

4�
-�� "����� B�%����.  
C>    �&�� ��K��
 8	��� "��� �� �������� ���%�� B
���� 7* C�� 	

#� 8
������	� +I M���� "��� ��. 
E>   0������ ������� M������ 	���� <��� 	��) 8	��� 	�� � ��

��	2��
 (��� 8
���� 	&�� ������ B
���� 7* C��L�  .  0�.

   	��� A�@���� �
	�� 	���� ������� M������ C��� ���&�� �H��

� 

���� 
��
�����. �	 ��� 	�
���� 

���� 	�� ��*  :������� /
� �� +% C���. �K�*"�����7 A�@��� �
	�� M���� 
*. 

          
 +
	� ����
)11>7 (   Y����� 

��� 	�� +���� "����� 	&��

���� :�����(
 ���� 
* �K�* :������ /�	 � 	�
��.  
  

 +
	�)10 >7(  
 �@�H�� Y���� 

�� 	�� +���� "����� 	&������  

 ������ 
* ���� �	  ��K�* �	� 
4 ×4

10 +�%�/���2  
5  ×10 3 +�%�/���2  
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� "����� 	&�� �* +
	��� �6� �� H&#�
 
��
�  ��K�* :�����
� =��H� �� '��* 
��
� :���� ���� ���� :�����( 
* ���� :������ 

�K�* :������ /�	 � 	�
�� 

���� ���� )	� Y,
� �6�
.  
  
11�8   $7�%� "��+$����  ����� #�
�8  

�%
�� : 
*�� ���6�� �2���� ���
	�� �� D���     +����� �%���*
 0��� :��������
	�
� �* 
* ���� 	�
� �-�.�  �����	�� ����T� �	� �

   �-����� ���	
 ������ /	���� /�
��� ���� 5�
�* ����* '�( ��������

 ��������radiotoxicity  .   ��� �6�-� +
	��� ��H�� :6�* 	2
 D���  

�2��� 0. O� :�B���
���- ��������.  
  

11�8�1   7�%�$  ������ 9�
��� 9� ��� 
�+$ ����� #�
�8  

        +
	� ����)11>8 (�D��   ������ /	���� /�
��� ���� �%����
 :�����;� �	 ��� B�-��� 
*���Z� M���� 5�
��� '�(:  

  
+
	�)11 >8(  
D�� � +���� �%��*  

 =6-� ��F�*
�%���� 

����� OK���� 5
��� 

� :���������
  ���
 /��&��

�--��� 

  7( /�
�H&� "����
 C��
 �������� '��
  A���#��� 4�	�����
 M��� M,��
 ��2�
��
  ����2��� �-�. ��������

��  ���2���
 ������


���� 

 0��� �%����	�
�   ��-�.
  ������� ������( ����*
   �
�%� �* ��%��
 /���%
����� �-�. 

���� ���	 

+
�� 

�� :��������
����@����%�� �
 �%������*

 	
�����


  7( /�
�H&� "����
  ��-� ��������� '��� 


 A�#��� 4�	��� C��
 M��,��
 �����2�
��

 0���� �%����   �* ��%��
 �-�. 	�
� ����* ������(
������  �* �%�� 0��� 
*

   /	���� 

��� �-�. 
	&�

�F��0� 
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 /B���-���
 �	��� ���


������. 

 ����-�. �
���������
��2�����. 

 /�
�, �B���� ��� ����
 :�������� �.
��  ��� ��

 +����� 

 D�����3��
 /�
��������
 +���� �%���
  D��$ +F�
 �%&�������
��2�����
. 

  7( /�
�H&� "����

 �-� �������� '�� 7

  /�
���, 	���
�
7  A���#��� 4�	����

��2�
��. 

0��� �%����  �-�. 	�B� 7
�� 	&����  ��������� 

��������  '��0.1  0. ��
 

����� ����%�(
 5
��7� 

���� 	�
������ ���-� �-�. . 

�F��
� 

  0����������
 /�
��������
 :����������
 ������
�&��
 	�
�������

������ 

/�
H&� ��$   �����!�� 0������
 �%����
  :�������� �	� � ��
   �
�%� 
��& ��������
  :�������� =6� )
���

�* 8
�&� 7
 #�-��  	�
�
 ����. 

M����� 

  
  
  
  
11�8�2  $7�%� ��� ���� ����� 
�+$ ����� #�
�8 ������ 9�
  

         ��� �6� '�( �.�,���
D��    :���������
 +���� �%��� �����
� �� 	!.D��  
� 0��� :��������	�   ���
�	��
 �&
�K� ���� 	�
� �-�

:��
��� M��* '�( .1�6%�    ����	 
��& �� ������ 	�
��� M�B
� ��
����� :��
����� =6� '�� �-�����.  

  
3� �� �	 ����� :�)
:% ������ ���
	  

 High toxicity radionuclides 

         0�
 : G� �210
Pb�   �
���
�
�210

Po �  �
���	�223
Ra�   �
��	��

226
Ra�  �
�	��228

Ra� �%*� �
��227
Ac�  �
��
F227Th�  �
��
F228Th�  �
��
F

230Th�  �
���%��
��231`
Pa�  �
����
�230

U�  �
����
�232
U �  �
�����
�233

U � 
���
� �
�234

U�  �
��
���237
Np�  �
��
�
��238

Pu�  �
��
�
��239
Pu�  �
��
�
��

240
Pu�  �
��
�
��241

Pu�  �
��
�
��242
Pu�   �
�������*241

Am�   �
�������*
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243
Am�  �
��
%242

Cm�  �
��
%243
Cm�  �
��
%244

Cm�  �
��
%245
Cm� 

 �
��
%246
Cm�  �
���
K���%250

Cf�  �
���
K��%252
Cf .  

  
����%
,�� �	 ��� :������ ��� $� � * �)
:%  

  Medium high toxicity 

         0�
 : �
�	
 22
Na�  �
�%36

Cl�  �
����%45
Ca�   �
�	��%��46

Sc� 
 B�����54

M�  :��
%56
C�  :���
%60

C�   �
�������89
S�   �
�������90

S� 
�
���*91

Y� �
��%�BZr 95�  �
����F
�  Ru 106�   ��,.Ag 110m�  �
��	��% 
115m

Cd�  �
�	�*In 114m�    �
����*Sb 124�     �
�����*Sb 125�   �
���
���
127m

Te�  �
��
���129m
Te�  �	
�124

I�  �	
�126
I�  �	
�131

I�  �	
�133
I�  �
�B��

134
Cs�  �
�B��137

Cs � �
����140
Ba�  �
����144

Ce�  �
�����152
Eu�  �
�����

154
Eu�  �
����160

Tb�  �
��
F170
Tm� .�� �
��181

Hf�  �
������182
Ta� ( �
�	���

192
Ir�  �
���F104

Tl�  :
�B�207
Bi�  :
�B�210

Bi�  ������(211
At�   G�� �

212
Pb� �
�	��224

Ra�   �
����%(228
Ac�   �
���%���
��230

Pa   �
���
F234Th� 
 �
����
�236

U�  �
���%��
249
Bk .  

  
�,�
,�� �	 ����� �)
:% :������ ��� $� �)
:%  

 Medium toxicity 

          0�
 : �
�����7
Be�  �
��%14

C�  �
�.18
F�  �
�	
 24

Na�  �
�%
38

Cl�  �
%����31
Si�  �
K�.32

P�  :���%35
S�  �
��*41

Ar�  �
����
�42
K� 

 �
����
�43
K�  �
����%47

Ca�  �
�	��%�47
Sc�  �
�	��%�48

Sc�  �
�	��.48
V  

 �
�%51
Cr�  B�����52

Mn�  B�����56
Mn� �	& 	52

Fe�  	�	&55
Fe�   :���
%

57
Co�  :��
%58

Co�  +%��63
Ni�  +%��65

Ni�  A�&�64
Cu�   ��� ���65

Zn� 
 �� ���69m

Zn�  �
����72
Ga�  ]���B73

As�  ]���B74
As�   ]����B76

As� 
 ]���B77

As�  �
������75
Se�  �
��82

Br�   �
����%85m
Kr�   �
����%78

Kr� 
 �
�	��
�86

Rb�  �
���
���85
Sr� 
���
��� �91

Sr�   �
�����90
Y�   �
�����

92
Y�  �
������93

Y�  �
����
%�B97
Zr�  �
����
��93m

Nb�  �
����
��95
Nb� 

 �
���	���
�99
Mo�  �
����%�96

Tc�  �
����%�97m
T�  �
����%�99

Tc�  �
����%�
97

Tc�  �
���F
�103
Ru�  �
���F
�105

Ru�   �
��	
�105
Rh�   �
��	#�103

Pd� 
 �
�	#�109

Pd�  �,.108
Ag� �,. 111

Ag�  �
��	�%109
Cd�   �
��	��%115

Cd� 
 �
�	�(115m

In�  ��	 2113
Sn�   ��	� 2125

Sn�   �
�����*122
Sb�   �
���
���

125m
Te�  �
��
���127

Te�  �
��
���129
Te�  �
��
���131m

Te�  �
��
���132
Te� 
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 �	
�130
I�  �	
�132

I�  �	
�134
I�  �	
�135

I�  �
���%135
Xn�   �
�B���131

Cs� 
136

Cs� � �
���131
Ba�   �
����F�7140

La�   �
�����141
Ce�   �
�����143

Ce� 
 �
���	
�����142

Pr�  �
��	
�����143
Pr�  �
���	
��147

Nd  �
���	
��149
Nd� 

 �
�F��
��147
Pm�  �
�F��
��149

Pm�   �
������151
Sm�   �
������153

Sm� 
 �
��
��(152

Eu�  �
��
��(155
Eu�   �
����
	���153

Gd�   �
����
	���159
Gd� 

 �
������	165
Dy�  �
������	166

Dy�  �
����166
Ho�  �
����169

Er�  �
����
171

Er�  �
��
F171
Tm�   �
������175

Yb�   �
�����
�177
Lu� ��3  �����181

W� 
��3 ����185

W� ��3 ����187
W�  �
����183

Re�  �
����186
Re�  �
����188

Re� 
* �
���185

Os� * �
���191
Os� * �
���193

Os� (�� �
�	�190
Ir� ( �
�	���194

Ir� 
 ���#�191

Pt�  ���#�197
Pt�  C�6196

Au�  C�6198
Au�  C�6199

Au�   "��@B
197

Hg�  "�@B197m
Hg�  "�@B203

Hg�   �
����F200
Tl�    �
����F201

Tl�   �
����F
202

Tl�  G� �203
Pb�  :
�B�206

Bi�  :
�B�212
Bi�  �
	��220

Rn�  �
	��
222

Rn�  �
��
F231
Th� ��%��
�� �
�233

Pa�  �
��
���B239
Np .  

  
��+���� �	 ����� :������ �;��%� �)
:% Low toxicity  

         0�
 : �
�����3
H� * ����%15

O�   �
���*37
Ar�   :���
%58m

Co� 
 +%��59

Ni�  �� ���69
Zn�  �
������71

Ge�   �
����%85
Kr�   �
����
���

85m
Co�  �
�	��
�87

Rb�   �
�����91m
Y�   �
���
%�B93

Zr�   �
���
��97
Nb� 

 �
����%�96m
Tc�  �
����%�99m

Tc�  �
�	
�103m
Rh�  �
�	�(113m

In�  	
�129
I� 

B �
��131m
Xe� B �
��133

Xe�  �
�B��134m
Cs�   �
�B���135

Cs�   �
������
147

Sm�  �
����187
Re�   �
�����191m

Os�   ����#�193m
Pt�   ����#�197m

Pt� 
 �
��
F232

Th� 0���� �
��
F�  �
����
�235
U�   �
�����
�238

U�   �
�����
�
0����.  
  
 11�8�3   $7�%�  ����� 
�+$ "��+$����"��� %��  �� ��$���  

         D� � ���@� 5�
�* �F#F '�( :��������1�6
 �    ����%� �����
 �-�
�	� ��� 0��� ������ �@�H��� 
 ��-�.    �@��H��� :���
���� ��������

������ . +
	� ����
)11>9 (��� �6�D�� .  
  

 � ��)11�9(  

5
� +% 0. ��H��� :���%
 ������� 5
�  0��� ��
����
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+
�� 0��F�� 
��F��  �-��( 0����
��H��� 

 �� +2*10  
�%��
8�
%  
 �� +2*1  0����

8�
%  
 �� +2*100 

8�
% 0����  
 �� +2*10 8�
% 

 ��10  8�
%
�%��
 '�(18�
% 0����  
 ��1 ( '�100  0����

8�
%  
 ��100 �
% 0���� 8

 '�(10 8�
%  
 ��10  '�(1000 

8�
% 

 �� �F%*1  0����
8�
%  
 �� �F%*100 

8�
% 0����  
 �� �F%*10 
8�
%  
 �� �F%*1000 
8�
% 

'�
��  
  

����F��  
  

�F��F��  
  

������� 

  
           1�6%
 /�
H&��� :��������
 �%���� M��� M,�� �* C��


8* D���%7 

���� ��2���� �-� /�
����� �%����  	�
��� �� 8�� 

��
OF
	& �
. ������.  

            


	& 	��
 

����  O�P.� 7 '�& ������ O�
 '�� O���B( C�

O���B( ����� 	!�� ��� M�
* "���� '�( 

���� �6� �����.  
  
11�9   ��4� �� >+����  

������ 	�
���� ����� 

�� 

	& M��� ��2�
�� A�#��� �	���� .
6� 5
� 	����
#��� =�

���� ����� '�� A +��&���  O����%
 .  	���.

   D������ 4�	���� 0K%� ������ 	�
��� �� ����2 :���%� Y���� 

��
�������� :�B�K!��
 ���
��� ��2��� 86 4�6&��
 8	���� .  

��� 	�� ��*

�!�3���
 ����%�� ��&�� 4�	��� C&� O�P. :������� �� ���% 8�� 4�
-��� 
2 ��	���� M� C����* 
* 4�
-�� Y���� /	
B� A*��� +
& 5���  +�� 
�
0!��� 4�
-�� .  ���&�� 4�	��� C�� ������ +@�
���� 

���� 

	& 	��


� 	
B��� A*��� 5��2
 �!�3��� ����%���0!��� 4�
-�� ���
��.  
            

    ����3� �����2 ��.�$ �.
�� �* C��. A�#��� 5
� ��% ��-�

B��&� ��
 K� A�#��� 

���� ������ M��� C����.   ��.
�� C�� ��%

�.�3�� =6� �� C�!��� ������� +@��
��:  
  



  375

*>  �3� <
&� 8	��� +)R	 �.
� +,K�
.(  
C>   

���� �� D�%�� /B-�*)	 �� A�#���
 8	��� 

��.( 

E>  #�+����� ����2 �K�H� ��2�
 A�. 
	>  B��&�� D�H��� C����� '�� C���� <�&��. 
��  :��
�& ������ :���K���
 �F
���� ��	������ A�#���. 
L>   ����� ��$ +
�	 M��� B��&�� 	�� ��2��� C�%�9  6��K���
 ���


 ����$
 A�#��� +�	����� � ���� :��������. 
�>    8* 

	�& ���& 0. D� ��� ��K�%� � ���� ^��
��� :������

 �������� 	&� 	�	��� 

���� 
* "��&�� +F� )��* 
	�
&. 
  
11�10   ( �$�� �+4���  

  �������� � ����� "�!&� '�( ������ 	�
���� 

���� ��2��� D	-�
���Z�:  
  
*>  �%�� 	& '�	* '�( ��
�	���� ������ 	�
��� ���% <�K��.  
C>   ���
* 0. ������ 	�
��� 4�
�&� +��	 =�
�&�   '��� ��B���&

+2��. 
E>  �� �&�& �� :�
���� 6K��
 :�������� 5����   A�#����� ��!����

 +@��

 +���$7�
 ��2�
��	 � 

����. 
         

 +%� ����
)11>2 (  :������� 0. ������ 	�
��� 4�
�&� ��K�%
������ 	���� 
��

����     /	�� +���	 ������� /	���� 4�
�&� C�� 
�&
B��
& .   0���� �����B�� 0� ����* +%��� �6� 0. B��
&�� 		� [���


��� 
* +@���� 8
�&������� /	��  ����B�� O�. M,
� 86�� 4��
�� ��	�

	�
�� C7
	 ��
-����  86�� ������� +�	� 	�� 	
�
��� B��&�� ����*


 B�-� O��� M,
�	 � 

����.  
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                    1 

                                2 

 

                                                                     

                                                                               5 

                                                                                             4 

 

  
 +%�)11 >2(  

4����%�� :������ 0. ������ 	�
��� 4�
�&�  
       1>           ������ /	���� ��
�&�� ����B��4> �.�3�� E���  
       2>                           B��& <
& 5>  B�-�	 � 

����  
       3>  ��	�C7
	  ��
-���  

   

11�10�1   ( �$�� �+4���� ��
	 �	� 4  

           +����� ���@�!�� 	��.�� M��� '�� 

���� ��2��� ����� 	����
��%��� 0. 
* C2�����  D���;� M,����� ������� 

���.6��1�  Y��� 7

  '��� ���
	
 ���
* ����	� �
B���� ��6�� 	��.T� 7( �%���� =6� +
�	�
 

	& ���& 0. D� ��� ��K�% '��
 �%���� 1�� 0. +���� 	��
2 8*

������ ��.  
  

             =6�� ��� 8* 0. +���� 	�� �-����� C�� 0��� 	��
!�� ��*

0�� �� �%����:  

  
*>  �%���� =6� +��	 ���	���
 C�����
 ������ +
��� �� 5����7�.  
C>  =��$ 
* ������ [,�% �K��� :�%�& +�� �� 5����7�. 
E>   L
���� ���3�):�3  ��-� (  +
� 
 M��� ����
�  +@�
����

�	�� '�( 

���� + � 7 '�& ��%��� '�( +
�	�� +�2 �-��(. 
	>     C��� ���%��� +��	 G����� �� 8� L
�� 8* 

	& 	��

��� �-�� [������9+
 ���2
��   0�. �-������
 �-�� 

���� ���B(

+�&��. 
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��     +��	����� ��	�����
 ��%��� +��	 ��	���� +�	����� ��	���� �	�
���� ��2�
�� �-�� 7	�  

���� ���BP� � . 


>   C��
 ���2��� M,�� �%���� =6� �� E��� 0��� 4����� M���
6�K���� +�2 �-����( '�� �!.�
��� 6�*     �-���,�( C��� ���%



���� �����7 .1�6%�     ��-��� /B������ :������� M,
 C��
)0������ 

���� :���� .(    '��� :������� M�,
 C�� ��%

 :�
	�� M��� :�
	��� �-��� �	�
 �%���� 1�� 0. ��	������
)���� �%���� 0. ��	������. 

  
11�11    "
	
��?� 9.����� ��� ��� "��
���  

�� '�� ��7	�� ���
	 /��� �	���� ������  ��������� .  =6��

 +%� /�����)11>3(  :����2 �F#F �-� ��&� ��B%�� /�@�	 �� /����

 ����� ����� ���@�	)M� ��B%���� /�@�	�� (   ��
����
 	
���� �
����
4��K  ��K�� '�� . '�� ��7	�� �K���� :�&�� � /����� '�� C�%�


 /�
���� 5
� ��*:�&�� ��� =6� ������� :�������
 +����:  
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 +%�)11 >3(  

�������� ������� /���  
  
11 �11�1 ��@�$ :��	
��A ���%�  

  Caution: radiation area 

       �
 0. /����� =6� M,
 8*!����  ���� �-�. <���� �* �%�� 
������ � 0����( +�����0���  &� 
�&�+    ����� '��� �����. 
 ����	!�0.1 5
���� 0. :�K�� 0����.  

 

11 �11�2 �@�$� :���� 9�
�  
   Caution: radioactive material 

            
* 	��
� 0���� :�������� 
* D�3�� 0. /����� =6� M,
�

 �B�� +
	� 0. ������� :���%�� '�� 	�B� ���� 	�
� �-�.)11>10(  
  
11�11�3   ��@�$ :���� �� �   Caution radioactive materials 
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             ���
�& 8* '��� O���9� +-�� ��%� 0. /����� =6� M,
�

  B
����� 7 ���%� ������ 	�
��� +
�	� 
* ��B�� 
* +!�� �	����1/10 

������ :���%�� �� +
	� 0. �)11>10.(  
  

11 �11�3 '	
��A �
�% ���%� '* ��
	 �5� 6�  
 Airborne radioactivity area 

           	�
���� B��%�� �-�. 	�B� 0��� "������ 0. /����� =6� M,
�
 +
	� 0. ������� 	
	&�� '�� 4�
-�� 
* 4���� 0. ������)11>11.(  

  
 +
	�)11>10(  

 ��#��� M,
 C�
��� 86�� 	&��
�� '�� �.�3 ) 8�
% 
�%��( 

��H��� ��� 

100  
100  
100  
1000  
1000  
10000  
10  
10  
1  
0.1  
0.1  
1 

�
����%45 ��
����
�42 ��
K�.32  
�
�B��137 ��
����137 ��
�%36  
�
�	
 24 ��� ���65 �C�6198  
 �
��%14�  A�&�64  
 	�	&55�  :���%35  
�
�%51 �  �
����3  
 :��
%60  
	
�125 �	
�131  


���
���� 90�  �
����90  
 �
�	��226  

�*� �K�* �	� �  
�*�  ���� 
* ���� �	� �)	�
 �� D#�( 

  
11�12   � ���+��      �� B���  "
	
�B�

+ �B���� #�
�8 '*

������  

 C�� ������ 	�
���� +���� �%��* ��� � 	���   �������� O���

:��,���
 ���	���
 Y��T� �������� ���&��
 ��
-��� ��H�� ����%��.  

  



  380

 +
	�)11 >11(  

�%���� B�%����+/��3   
��H��� /�
H&� "���� /�
H&� ��$ "���� 

4�
� 4�� 4�
� 4�� 

0.011  
3.3x10

>4  
1.85x10

>4  
2.60x10

>3  
1.1x10

>3  

74  
2.22  
1.48  
18.5  
11.1 

3.33x10
>4  

3.7x10
>5  

3.0x10
>6  

7.4x10
>5  

3.7x10
>5  

2.22  
0.011  

7.4x10
>3  
0.74  
0.33  

 :���%35  
 	
�131  
� 	
125  

 �
K�.32  
 �
����%45 

3.7x10
>3  

3.7x10
>3  

7.4x10
>2  

7.4x10
>3  

7.4x10
>3  

0.37  
0.37  
0.150  
0.185  

29.6  
22.2  
1850  
37  
74  
 >  
 >  
740  
3700 

1.85x10
>4  

1.48x10
>4  

2.96x10
>3  

2.22x10
>4  

2.96x10
>5  

1.1x10
>2  

1.1x10
>2  

3.7x10
>2  

7.4x 10  
  

1.11  
0.74  
7.4  
1.48  
2.22  
 >  
 >  
3.96  
111  

�	
  �
24  
 �
����
�42  
 �
�%51  
 �
��82  
 �
�%36  
 �
���%85  

B �
��133  
 �
��%14  
 �
����36 

  
11�12�1    �� 6$�� �
:%  

           +�	����� '��( ��������
 ��

��� :�������� 0. ��
-��� D	-�
����� �	& O�. ������ 	�
��� B�%�� ���� B
���� 7 '�& 4�
-�� ������� .

��
��
� ���� 7D  ��
-��� ��H� �� ��

��� :�������� 0. ��
-��� ��H�
0�� �� �-��* ����� C��
� /	� 0. 7( ��@����%�� :�������� 0.:  

  
*>   0. �!����� ��� �� ������ 	�
��� B�&� :�&��� M,
 /�
�,

E����� �-���� �	�
 4�
-��.  
C>    ������ O��
� C�� ��B�$ ���& 0. ���� 	�
� 	
�
 ���& 0.

 �� �� 	%���� ��� 
�&� ��
-��� E���� '�(
 :�&����� '�( �
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 �%��* 0. ��B%�� �	�
 ���� ����� �-���� 
* :�B�3�� =6� Y����
����2. 

E>    ����,� +��	���
 6.�
��� M��� �� /	��� ��
-��� E���� �
%�
/�
����� �%���� 
* :�������� 1�� '�( 4�
-�� +
�	 �	�.C��   

	>  �
-��� E���� 	�:����� "!&�� '�& ����� :���K��� '�( �. 
  
11�12�2   C��D� ��%��� ��
���  

         0�. ���	���
 Y���� M��� 0. ������� �
���� "!&�� �* C��
�&
�K� ���� 	�
� 
* �	� � �-� 	�
� 0��� �%����:  

  
*>   '�� :��,���
 ���	���
 :7
���� +F� Y���� M��� �
%�

���� �� ����� ���	�* �� �����
 ��
�    
* �
��% 
* R
	��
:�!!��� 
 86�� 5
��� �� �
%�   

����� ����B(
 �-K�H�� +-��
�-��.  

C>   G� ��7 +��2 ��$
 ��@����% +��� 4#�� ���	��� M��� 4#�
��� 
* 4����
)���� +@�. 

E>     ���@����%�� :#���K���
 /���&�� ��
�!� 	�
�� ��,��� ���3�
 
�&� �	�� �-! �
�* C���� 7�    ������� 	�
���� �� :���%

�-�&�. 
	>     ���
�!� ������ 	�
� 8* 
* �%����
. Y���� :7
���� ���3�

��@����%�� :#��K���
 /���&���  	�� " #� Y���� =6� " ��

���B#�� ��@����%��
 �����&�� ��
�!��� "!&�. 

��  ��-%�� +� 
��� Y���K� M,
@�    7 '��& /	���� �%���* 0�. 0 
������ 	�
���� 

���� <����. 


>   �&��* +%�� �-�* 
�& :�K�%��� M,
 '�( � �� ����� O��
�


���� ���3�� �-��� C���� �* �%��. 

B>  �* M,
 �	��   :�6 :����B���
 D.���% ���
�, ��$ Y��*
��%��� +��	 E��	��. 

L>      A��#��� ����$ ��.�3% �-��	���7 /�
��� �.�$ G� ��
(change room)   /B-����
 	�����
 ������ 4����� 	
B� �* '��

	 � ��2�
�� A�#���
 

����. 
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         �� =6� �.
� /�
�, '�( /����� �	��
:������    M���� 0�.

  +
�� 5
���� ������� ��*
 M�����
 
��F�� 5
��� �� �%����
 :��������
:���%��� 1�� �-� �.
�� �* +,K��� �� O�P. 0��F��
.  

  
11�13   ��� ( �$��  

11�13�1   .
6� ���
��( �$�� ��� E$��
��   

          �* �* �%6�  /�
�� +%�� 7 	2  ������ 	�
��� �� ����2 ���%
��
��� ������ ������(�   '��( 8	9� �* �%�� O�K� :2
�� 0. �-�%�

���3�� /���% �����	 /�
��.   Q������ 0������ )
����� �* 0��� �6�


 �� �K��, �
%� D
� /��3 �� ���%�� =6�.6��1�  �.
�� �* C�� O�P.
 /B-��	 �     Y����� /B-���� �����!���� ���3�� ����� �����& 

����

�3 �� ������� :���%� 

���� �� D�%�� �%�� '�& 0������.  
  

         /B-�* <�3�� �6-� �	����
 	 � ����� D��
%� /	
B� 

��
$ 	�	� +F� �����&��0,��
�� 	�	��� 
* �3�� .   /B�-��� =6�� 		&�


 	��� +	��)�!�2	�� 
* ����F�� 0. (   /B�-��� =6�� +F�� H�K�&7� C��


 ��	���#� ��@�	 /B��� �
%� 
�&� �
%������ �2	� /�����.  

  
11�13�2   C���� ( �$ #	 ��
+��� 7����  

         
 :��,���
 :7
���� Y��* 

�� �� D�%�� ���  A��#���
8����� 	����
 ���	2��
 8	���
  /B-�* ��	����� /�����	 � 

���� .

+�%� �3����� /����� �-��4��2 /B-��� �H�� 0���
/���2 .  +�% 	
B�

 ���	&* ������ B�-�	 ��  ��Z�
 �K�* �	� �� 

����	 ��  

����

���� �	� �� . +��� ���� :����� :���� �* '�( /����� �	��
 ����
 �� ���@,���� :�����(�  +��� ���

���� 	 �   ����  ���� �	� ��

��%��� 0. ���� :������ ������( ��K�� �.
� ���& 0. ���3�� . 6���1� 
 �!��� ��	���� C�� ���� :������ ���� 	�
�� 

���� �� D�%�� O�P.



���� �� D�%�� /����� ��$.  
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11�13�3    �$ #	 ��
+��� ��� 7���� C���� (   

         C
���� �6� �	����	 ��   ����� :������ ���� 	�
�� 

����
���� :������ ��K�� 	
�
 0. .1�6%�   D��%�� C
���� �6� �	����


���� �K��,�� :��
����� ��.  ���
	 �  

�����   C
����� �6�-� 

0�Z�%:  
           

 

���� Y���� �� �&��� Y���) 0��
&0.1 �2 (2�
� Y���� �
�K�H�� 0�
��� �� A�% +��	 �2�
�� M,
�
 �(   ������ 7 '��& ����F


�����   ����
 <K��� 0����( )
��� :�6 �.�$ '�( �2�
�� 6�9� �F

�.�3�� =6� 0. G ���� B�-��� '�� ��	� . 

���� )
��� 	�	&� ����
(Contamination level C.L) +�%� �3�����/�2 ��2#��� �!��:   

C.L = C ( 100 / η ) x ( 1 / A ) x ( 100 / E )
 

 
�&C ����F�� 0. 	��� +	��� ηγ �0   �	������� D��%�� /4�K%
	���� A M����� ������ Y������ �2�
� O&�� �� 86�� Y���� �&��� � E 

0�%�� 

���� '�( O��!��� �� 86�� 4B��� ���� .��
��
�   	��	&� C� �
 ���2E  � 
�&*� /	� '�� 	���� �-�+��
:   ��������� G@� ��� �-��*



���� Y���� �����
 /	���� ��@����%��
 .6��1�  ������� ' 
�  ��	�!� 
E  
���10 .%  

          
 ���2 	�	&� 0. �2	�� �	� C���
E  A��!�� )��* �!��� �	����

   ��	������ Y����� �� /���% �&��� Y��� 1�6
 

���� ������� ��$
 ���� D��� "�
(damp paper towel)  ��	�� ���
 �2�
�� =6� 6�9� �F .

-��� �!����� =6� B����
�  	�	&� �� #,. Y���� �� 

���� ���BP� �
!�
 

���� )
���O���.  

  
11�13�4   ���  5� 6�� ( �$  

       C��	 �  
	&� �* �%�� 0��� �%���� M��� 0. 4�
-�� 

��


���� �6� �-�.. &P� /	�� 4�
-�� 

�� 
	&�
   �������� "����� )	

�������:  
*>  Y��T� 0&���� 

���� �����.   
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C>  � ������+@�
��� �� Q����� 

���� D�K�. 
E>   +F� 

�� ���$ O�� Q���
 D����� '�� ��� 0��� :������� �����

M�!�� :�����. 
  

           ��� ��&�� ��
��� ���% C&�� 1�6
 4�
-�� 

�� A��2 ���
 
1�6 +#� 4�
-�� Y���� �2�
�  '�� Y������ �2�
� 	��� +	�� A�!� �F
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